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4[27VRI—-KvIR 2,944 23|17 VA=K YHR 2,807 24|AE9R-A-N—F54} 2417 24|AE9R-A-1N =54} 2,084 2.2
5| LR -THARSFH 2,694 21| YA -THAMFFAF 2,406 20[AEA-THAMFF4H 1,976 20[AEA-THAMFF4F 1,746 1.9
6|AEIA-71F 2,639 20[AE"HA-54b 2,318 20[*EHAR-54F 1,894 1.9|AER-54F 1,663 1.8
7|AER 2,554 20|/E'HA 2,253 1.9|AE'HR 1,872 1.9|AE'HR 1,647 1.8
8|hmiE 2,392 1.8| LA THAR574-100'S- K 9) A 2,004 1.7|AE9R-T9AM554F-100'S K 'YI A 1,780 1.8|AE"9A-THAM574F-100'S K 'YIA 1,557 1.7
9| AR A—1"—=54}-100'S - F'y4 R 2,131 1.6| LR A—V=54}-100'S - K'yIA 1,944 1.6| AR RA—N"—54F-100'S - K"y R 1,676 1.7|4Ub-1-100- 499 R 1,455 1.6
10[AE"9A-THRF574F-100'S - F ')A 2,123 1.6|24VAbY - F4R9—-K74F-T0-100'S - K yH R 1,801 1.5 24VAbY - F4R5—-K74F-70-100'S-K'9IR 1,618 1.6|74VAbY - 4R 9= K74} 72-100'S - K vHR 1,446 15
11|13— 2,019 1.6/7Uk-1-100-F"y4R 1,776 1.5|7Yk-1-100-F"y4R 1,578 1.6| AR A—1V=54}-100'S K 'y4 R 1,409 15
12|7Ub-1-100- K"y 1,950 1.5\ HR-IVIFLAY—N- 4730 - N =T I-5 1,711 1.4[T—\#k'0 KS £99R 1,441 1.5[v—#k'0 KS £99R 1,327 1.4
13|74V AbY - 4R 9=+ K74 }-70-100'S - K vHR 1,926 1.5|v=ik'0 KS £'99R 1,705 14| E IR T VT LAY =N - 473y - W=7 Ib-5 1,398 1.4|7Ub-1R-9)=2"-1-100- K 99 A 1,280 1.4
14|7—k'0 KS K 99R 1,854 14| AER-THARGFAF- Ky R 1,561 1.3| AR -T9AM5FA b K vHR 1,320 1.3| AR T VIT LAY —N- 4T3y -N=T -5 1,168 1.2
15|3=bik'0 AvY—lb 8 K'yHR 1,727 1.3|¥=ik'0 AvY—I 8 F'yHR 1,517 1.3|7Ub-1A-YY=2"-1-100- K 9) A 1,300 1.3|AE9R-THAMFFAb- K vIR 1,155 1.2
16|AEDA-THAMGFA M- YHR 1,715 1.3|AEHR-TY 1,460 1.2|AE9R-TY 1,244 1.3|59%— Ab549 - TFAN—MIYb-6 1,151 1.2
17 (AR TVIF LAY =473y - W=7 Ib-5 1,689 1.3| 4V AbY - F4R9—-HKT4b-5 1,407 1.2| VALY %4 R5—- K745 1,198 1.2| YA - ¥4 R8—-K74b-5 1,095 1.2
18|74V APy -F4RG—- K745 1,604 12|35 A F0Y=1 -4 b- K 9HA 1,266 1A[3=Ai0 A0Y—I 8 K'yHA 1,168 1.2|AE'9R-TY 1,090 1.2
19[AEMR-TY 1,602 1.2|AEHR-TY- K YR 1,255 11| AEIR-TY- K 9)R 1,065 1A[3=LiR8 A0Y—I 8 K'yHA 1,011 1.1
20| AE AT R )R 1,365 1A[FUb-TR-Y)=R"-1-100- % )R 1,248 1.1]%=7"(10) 1,041 1.1]%=7"(10) 986 1.1
(B HEX, %)
Vit SHAEE 20225 E) SHSEE (20235E) SH6EE 20245 E)
iR A = v1y FiA e = Y1y FiA e = Y17
127 vA5— 3,692 4017 VA5— 3,589 417 vR45— 3476 42
2[27 VRI—-KyIR 2,233 24|17 VA= FK'9HR 2,165 2517 VA= yHR 2,112 26
3|AEHAR-TY-100'S K yHA 1,934 2.1|AE'HA-70-100'S K v) A 1,663 1.9| AR RA—1N"=F1} 1,452 1.8
4R RA-N—514b 1,815 20[AEHAR- A=V =51} 1,613 1.8|AE™9Z-7Y-100'S- K y) R 1,409 1.7
5[AE'9R-THAM74b 1,550 1.7|AE9R-TH A4 1,385 1.6[AE'R-THA74b 1,276 1.5
6|AEIA-71F 1,485 1.6|AE"9R-54F 1,333 1.5|59%—Ab549-T¥AN—MIYb-6 1,215 15
7|AEMR 1,461 1.6|AEHA 1,311 15|AER-54F 1,207 15
8|Fy¥—-AbF49-IFAN—MIYL-6 1,333 1.4|59%— Ab549-TX AN M6 1,269 1.4|3vA-957b-6-B 1,191 14
9| AE'IA-THAMF74F-100'S K vHA 1,331 1.4[3-)i'0 KS H'yHR 1,196 1.4|74Yy7" £JZ 1100 K'vHR 1,187 1.4
10[7Uh-1-100-F"y4 R 1,288 1.4|74)97" €JZ 1 100 K'9IR 1,158 1.3|AE'HR 1,164 14
11|v=ik'0 KS F'99R 1,274 1.4|%%AL-957b-6-B 1,156 1.3|v—#k'0 KS £99R 1,126 14
12[AE')R- A=V—=54}-100'S-H'v) A 1,264 14| AR A—V=54}-100'S K yIA 1,138 1.3| AR - A—1V=54}-100'S K 'y4 R 1,038 1.3
13[91VAbY - F4RE—- K74} 7Y+ 100'S K vIR 1,247 1.3|7Uk-1-100-F"y4 R 1,126 1.3|7Ub-IA-YY=2"-1-100-K 99 A 1,018 1.2
14[FUb-IR-YY=R"-1-100- K vH R 1,218 1.3|¥vA-957h-M-A")—-8-B 1,110 1.3|7Uk-1-100-F"y4 R 1,002 1.2
15|94V A - 3% 29— K715 1,006 11[FUb-TR-Y)=R"-1-100-F 99 R 1,102 1.3 MVAbY - F4R5—-K74F-70-100'S- K 9IR 976 1.2
16[AE A THAFA- K YIR 1,005 1.1[94VRbY - F4R5— 574+ 70 100'S - F 992 1,100 1.3|F5 49570 M-A")—-8-B 918 1.1
17[AEHR-TY 967 1.0|AE™9A-THAR574-100'S- K ) A 1,007 1.1]FvAb-957b-1-100B 866 1.0
18[3—NiE'D AvY—I 8 H'YIA 935 1.0|4VARY - %2 25— K74}b-5 916 1.0|AE"9A-T9AM554F-100'S K YIA 859 1.0
19[+—7" (10) 921 1.0|%+¥A-H57b-1-100B 891 1.0| 74V A - %4 R5—- K745 837 1.0
20(74Yv7° EJA 1100 &'y4R 910 1.0 AE"9R-THARGFA b K yHR 879 1.0[E=2-34F-FyHR 806 1.0
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